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Which Economist first coined the concept of

“Missing Women” ?

Nobel Laureate Economist, Amartya

Kumar Sen

What is the sex ratio in India according to

2011 population census ?

943

Which of the following takes the responsibility
to even out supply-demand mismatches in the

power supply in India ?

All India Power Grid
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Which of the following is the program with the
objective of reducing maternal and neonatal

mortality rate among poor pregnant women ?

Janani Suraksha Yojana

Which of the following is the component of
“Sarva Shiksha Abhiyan” ?

National Programme for Education of

Girls at Elementary Level

Among the given options, identify the
non-developmental expenditure.

Defence, Maintenance of Law and Order

Which of the following statements is not

true ?

IHDI combines a country’s average
achievements in health and income.

(5)

Rl (OB 0D Trenry  deew
Dotigd00d (AAArTeS) SIS Do
Doy Bhodd 05,50256 ErToBoND
S65800

20D O B
& 200 TES” O “WEIT VDT D

90730
VL FEE Dy Eo
B BededEs 2°BOH SBFE0

& 8086 TS O-RHVD  ores
(023DDR  Hgsrdy) by DVotd L
20220800 A (1dotsok.

BE67, B0 er ok esgS K)dsére'a

& $0HTEIS’ D HELD Javo S
DO.ED. w8 B 066650,
ITPOR) GorreeS” i Da0ITPL
S Bood.



GSW/500

10.

Rajesh’s car is facing towards South. He drives
10 km and turns left and drives 10 km. Then,
he turns right and drives 40 km. He turns
right again and drives 30 km. Lastly, he turns
right and drives 50 km. How far is Rajesh

from the starting point ?

20 km

In an examination, a student scores 4 marks
for every correct answer and loses 1 mark for
every wrong answer. If he attempts all
60 questions and secures 130 marks, the

number of questions he attempts correctly are

38

The ratio of the ages of the father and the son
at present 1s 5 : 1. After 10 years, the ratio will
become 3 : 1. What is the sum of the present

ages of the father and the son ?

60 years

(6)
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11.

12,

13.

The average age of 8 men is increased by
2 years when one of them, whose age is
20 years, is replaced by a new man. What is

the age of the new man ?

36 years

There are two examination rooms A and B. If
10 candidates are sent from A to B, the
number of students in each room is the same.
If 20 candidates are sent from B to A, the
number of students in A is double the number
of students in B. Find the number of students

in each room.

100 in A and 80 in B

The numbers 1 to 29 are written side-by-side

as follows :
123456789101112........ 28 29
If the number is divided by 9, then what is the

remainder ?

3

(7)
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14.

15.

16.

17.

A number when divided by 765 leaves a
remainder 42. What will be the remainder if

the number is divided by 17 ?

8

The LCM and HCF of two numbers are 84 and
21 respectively. If the ratio of the two numbers

is 1 : 4, then the larger of the two numbers is

84
A sum of ¥ 370 is to be divided
among A, B and C such that
A’s share = B’s share = i Then, A’s share
B’s share C’s share 4

is
290

The dimensions of a rectangular room when
increased by 4 m are in ratio of 4 : 3 and when
decreased by 4 m are in ratio of 2 : 1. The

dimensions of the room are

12mand 8 m

(8)
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18.

19.

20.

21.

The total emoluments of A and B are equal.
However, A gets 65% of his basic salary as
allowance and B gets 80% of his basic salary
as allowance. What is the ratio of the basic

salaries of A and B ?

1211

The average of three numbers is 135. The
largest number is 180 and the difference
between the others is 25. The smallest number

is

100

The difference between the compound interest
and the simple interest on a certain sum of
money for 2 years at 15% per annum is ¥ 45.

Find the sum.
% 2,000

A 12 m long road can be dug by 18 men in
20 days. What length of road can be dug by
12 men in 15 days ?

6m

(9)
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22.

23.

24.

25.

During a journey of 80 km, a train covers the
first 60 km with a speed of 40 km/h and
completes the remaining distance with a speed
of 20 km/h. What is the average speed of the
train during the whole journey ?

32 km/h

In a family, the father took 1/40 of the cake
and he had 3 times as much as others had.
The total number of family members is

10

A’s age 1s /6% of B's age. B’s age will be twice
of C’s age after 10 years. If C’s eighth birthday
was celebrated two years ago, then the present
age of A must be

5 years

The sum of the digits of a three-digit number
is 16. If the ten’s digit of the number is
3 times the unit’s digit and the unit’s digit is
one-fourth of the hundred’s digit, then what is
the number ?

862

(10)
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26.

217.

28.

29.

30.

the scheme where the farmers’

contribution has to be < 100 per month.

Name

Pradhan Mantri Kisan Pension Yojana

In which city will the Oscar Academy open its

office ?

Mumbai

Who has won the Miss India Title 2019 ?

Suman Rao

Which State introduced the Mukhyamantri
Vriddhajan Pension Yojana for poor people

above 60 years ?

Bihar

Who has been appointed as the BJP’s Working

President ?

J.P. Nadda

(11)
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31.

32.

33.

Which company has launched an initiative
“Tech Bee” to train and hire students who

have completed XII standard ?

HCL Technologies

Open market operation is a part of

Credit policy

Consider the following statements in respect
to ‘Dadabhai Naoroji’ :

a. Dadabhai Naoroji played a crucial role

in founding the Indian National

Congress along with A.O. Hume and
Dinshaw Edulji Wacha.

b. Drain Theory was given by Dadabhai
which

Naoroji, exposed economic

exploitation of the British.

Which of the above statement/s is/are incorrect

?

Neither a nor b

(12)
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34.

35.

36.

In  which year did Bankim Chandra
Chattopadhyay write “Anand Math” ?

1882 AD

Which was the first newspaper in India ?

Bengal Gazette

Consider the following pairs :
Movement/ Leader
Organization
a. All India Mahatma
Anti-Untouchability Gandhi
League
b. All India Kisan Sabha Swami
Sahajanand
Saraswati
c. Self-Respect Movement :  E.V.
Ramaswamy
Naicker

Which of the pairs given above is/are correctly

matched ?

All of the above

(13)
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37.

38.

39.

Who among the following is the author of
“Role of Women In Freedom Struggle In
Andhra Pradesh” ?

K. Janaki

Consider the following statements in respect

to ‘Justice Malimath Committee’ :

a. Justice Malimath Committee report is
related to the reforms in the Panchayati

Raj system.

b. The Committee suggested constituting a
Judicial Commission
Article 124 to

impeachment of judges less difficult.

National and

amending make

Which of the above statement/s is/are correct ?

Only b

Which Article of the Constitution of India
safeguards one’s right to marry the person of

one’s choice ?

Article 21

(14)
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40.

41.

42.

43.

44.

Which Article of the Indian Constitution
places a duty upon the State to provide a
lawyer to any citizen who is unable to engage
one due to poverty or other disability ?

Article 39 A

Right to religion in India is a

Fundamental right

Select the correct code.

Literacy Status, District

2011

Female literacy rate
higher than All India
average

: West Godavari,
Krishna, East
Godavari

Which of the following States has the lowest
concentration of tribal population ?

Tripura

Where did the first steel plant in the shore
region come into operation in 1992 ?

Visakhapatnam

(15)
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45. Which Committee recommended the revision
of “Programme of Action of 1986” and
slight revision of “National Educational

46.

47.

48.

Policy, 1986” ?

Janardhan Reddy Committee

Which fact is not associated with “National
Knowledge Commission” (NKC) ?

In 2009, the Commission brought out a
“Report to the Nation, 2009”.

Which one is the simplest form of cognition ?

Sensation

Motivation should be followed by

Reward

(16)
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49.

50.

51.

52.

53.

Punishment is

Presentation of a negative stimulus or

removal of a positive one

Which the fields of

psychology focuses on the interaction between

among following

the physical world and human behaviour ?

Environmental psychology

The Pancha Kosha Theory of Education was
elaborated by

Aurobindo

The idea of Basic Education was propounded

by

Mahatma Gandhi

Who has propounded the concept of

“Sanskritization” ?

M.N. Srinivas

(17)
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54.

b5.

56.

57.

Which of the following is not the basis for

social stratification ?

Language

Social objective of education means

Equal educational opportunities to all

Adult education’s main objective is to

Help adults achieve literacy along with

their personal development

Acculturation is the process of

Being influenced by the cultural

imperatives of a nation

(18)
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b8.

b9.

60.

61.

The branch of philosophy that is concerned

with reasoning is called

Logic

Which of the following is a measure of

variability ?

Standard deviation

In a class of 15 students, 5 students failed in a
test. The test scores of the remaining students

are as follows :
8,6,7,6,5,3,7,8 4,17

The median of the scores of all 15 students
will be

Who i1s the Chairman of the New National
Education Policy, 2019 ?

Dr. Kasturirangan

(19)
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62.

63.

Read the following statements carefully and

choose the wrong one :

The 1986 National Educational Policy was

reviewed by Yashpal Committee.

Which one in regard to

Abhiyan

is not -correct

Rashtriya Madhyamik Shiksha

(RMSA) ?

accessibility, and

affordability  to

Ensuring availability

quality  secondary
education is a constitutional

commitment of the Government of India.

(20)
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64.

65.

66.

Which is the nodal agency for the Secondary
Education Management Information System

(SEMIS) ?

National University of Educational Planning
and Administration NUEPA), New Delhi

Credit for launching “Operation Blackboard
Scheme” can be given to which educational
policy ?

National Policy on Education, 1986

not associated with
Abhiyan

Which
Rashtriya
(RMSA) ?

It aims to

statement 1is

Madhyamik Shiksha

provide universal
education for all children between 6 — 16 years

age group.

(21)
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67.

68.

69.

70.

Article 46 of the Indian Constitution protects

the educational interests of

Scheduled Castes and Scheduled Tribes

Which is not a method of Social Work ?

Case Study

Social legislation attempts to

All of the above

The legislation that caters to the needs of

women 1s

The Maternity Benefit Act, 1961

(22)
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71. The Family Courts Act was passed in the year|71.
1984
72. ndia introduced the National Policy for|72.
Empowerment of Women in the year
2001
73.
73. National Women’s Day of India was observed
on 13th February, 2014 in memory of
135%™ birthday of
Dr. Sarojini Naidu
74. The Central Social Welfare Board was 74.
registered under
Section 25 of the Indian Companies
Act, 1956
75. The number of Articles included in the United 75.

Nations Convention on the Rights of the Child
(UNCROC), 1989 is

54
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e e
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76. International Year of Microcredit was
76.  Qot0) 1S RODE 9D ETALS
2005 2005
7. 02D, Feoss @ocd myD 6D 2018

77. What, according to WEF’s Global Gender Gap
Report 2018, is the rank of India among
149 nations ?
108th
78. In development programmes, NGOs are to be

treated as

People’s representatives

OG0 149 Bzl rosdI) SCEY
dodh ?

108
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79.

80.

81.

82.

In India, Right to Education has been now
accepted as a fundamental right; it is an
extension of the already existing fundamental
right of

Right to life

Which of the following statements is not true
about Kasturba Gandhi Balika Vidyalaya

Yojana ?

It is funded by State Governments.

Rishi Valley School is founded on the basis of
the philosophy of

dJ. Krishnamurthy

Axiology is the study of the

Nature of values

(25)
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83.

84.

85.

86.

Social structure, culture and personality

combined together form

A social system

Language, literature and art are the type of

Non-material culture

Which of the following is not an obstacle to

educational change ?

Cultural lag

When the culture traits spread from one

society to another, the process is called

Diffusion

(26)
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87.

88.

89.

90.

Which of the following is not a source of social

change ?

Migration of nomads in a particular

season

‘Phoenix Statement’ is related with

Gandhiji

“A school 1s a sacred place where all are
learning about the complexity of life and its

simplicity.” Whose statement is this ?

J. Krishnamurthy

Which Constitutional Article gives the States
the right to promote educational interests of
the Scheduled Castes and Scheduled Tribes
and Other Backward Classes of India ?

Article 46

(27)
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91.

92.

93.

94.

Which

included Education in the Concurrent list ?

Constitutional =~ Amendment has

Which Article of the Indian Constitution
states that “Untouchability should be
abolished” ?

Article 17

What IQ would a person have whose mental

age 1s 10 and chronological age is 15 ?

67

In Maslow’s theory of motivation, at which

stage does peak experience occur ?

Self-actualization needs

(28)
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95.

96.

97.

98.

Who among the following was the Chairman of

first National Commaission for Women ?

Jayanti Patnaik

Arrange the following programmes in order of

their introduction in India :

a. Adult Education Programme
b. National Adult Education Programme
c. National Extension Service

d. Total Literacy Campaign

Code :
¢, b,a,d

Which National programme included the

social education programme ?

Community development programme

In which district was the first successful total

literacy campaign carried out ?

Ernakulam

(29)
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99. Which of the following examinations does the | g9,
National Institute of Open Schooling conduct ?
Senior Secondary Examination
100.
100. Which of the following practices leads to social
exclusion ?
Special School for blind 101.
101. Identify the specific interventions introduced

for Universalization of education (elementary).
To answer, choose the correct option from the

code given below :

a. Mid-day meals

b. Distribution of free books and uniforms
c. Distribution of free laptops

d. Sarva Shiksha Abhiyan

e. Kasturba Gandhi Balika Vidyalaya
Code :

a,b,dande
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102.

103.

104.

105.

106.

In the Indian Constitution, ‘Education’ is in
the

Concurrent List

Which of the following Commissions suggested
silent meditation as a part of moral values ?

University Education Commission

Which of the following Commissions first

decentralized the primary education ?

Hunter Commission

The mid-day meal programme for primary

schools was initiated with a view to

Increase enrolment
Provision of “right to equality” has been

incorporated in Indian Constitution under the
Articles

14 to 18

(31)

102.

108.
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106.
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107.

108.

109.

110.

Who the

Integration Committee ?

was Chairman of Emotional

Sampurnananda

As one of the Indian Constitutional values,

Secularism means

Equal respect for all religions and no
discrimination in any matter on the

grounds of religion

The Right of Children to Free and Compulsory
Education Act, 2009 ensures the right of
children with disabilities to free education

from

6 years to 18 years

added to the
Preamble of Constitution of India by which

The word ‘Socialist’ was

Amendment ?

42nd Amendment

(32)
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111. The gap between two Sessions of Parliament|111,
shall not exceed
Six months
112.
112. The Comptroller and Auditor General of
India is appointed by
The President
113. Who is the Chairman of Union Public Service | 113,
Commission ?
Arvind Saxena
114. When was the Andhra Pradesh Public 114
Service Commission established ? .
1956
115. When did the Government of India appoint 115

M.M. Punchhi Commission on Centre-State

Relations ?

2007
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116. The Inter-State Council was established in the | 116.
year
1990
. . 117.
117. When was the Yuvajana Sramika Rythu
Congress Party founded in  Andhra
Pradesh ?
March, 2011
118.
118. When was the Sri Krishna Committee
appointed by the Government of India ?
February, 2010
119.
119. Who appoints the State Human Rights

Commission ?

Governor
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120. Who is the present Lokpal of India ? 120.
Pinaki Chandra Ghose
121. The Nirbhaya Act came into existence on 191
34 April, 2013
122.
122. Name the Minister for Women and Child
Welfare of Andhra Pradesh.
123.
Taneti Vanitha
123. In which year was the Domestic Violence
Prevention Act enacted ?
124,
2005
124. Which district in Andhra Pradesh is known for

its copper mines ?

Guntur
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125.

126.

127,

128.

Which inscription refers to Ashoka as guiding
the teachers to inculcate interest among the

students towards Dharma ?

Erragudi inscription

Acharya Nagarjuna propounded the ‘doctrine

of welfare state’ in his work

Ratnavali-Rajaparikatha

Who the
Gandharva-vidya-visarada in the Chalukyan
Court ?

was conferred title

Chellavva

Pavuluri Mallana, the mathematician, lived in

the court of

Rajaraja Narendra

(36)
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129. ‘Ranganatha Ramayanam’ was composed 129.
by
Gona Buddhareddy
130.
130. The ‘Dasa-samajam’ was established in
Andhra by
Brahma Naidu
131.
131. The title ‘Andhra Suratrana’ was first borne
by
132.
Kapaya Nayaka
132. The poet who gave a graphic description of the
socio-economic life of the Palnadu people was
Srinatha
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133.

The Samaya of the Kakatiya period denotes

caste organisation

134. Krishnadevaraya composed ‘Amuktamalyada’

135.

136.

while he was resting at

Srikakulam

Who among the following foreign travellers
described the skills of women-accountants of

the Vijayanagara period ?

Fernao Nuniz

How many sub-castes were there among the
Dommaras in medieval Andhra, according to

their claim ?

24

(38)
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137.

138.

139.

140.

‘Abhinava Dand?’ was the title of

Ketana

From which movement onwards, the students
of Andhra had started taking active partin the

politics of the country ?

Vandemataram

Who tried to instigate the Muslims of Kadapa
towards Jihad against the British and in
support of the Revolt of 1857 ?

Shaik Peer Saheb

The Congress leader from Andhra who
presided over the Nagpur Session of Indian

National Congress of 1891 was

P. Anandacharyulu

(39)
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141. The first widow remarriage was celebrated in

Andhraon

11th December, 1881

142. The first Telugu journal published for the

propagation of Christianity was

Satyaduta

143. Who was the first President of the Andhra

State Congress ?
Nyapati Subba Rao

144. ‘Kanyasulkam’ a work aiming at the popular

awareness on social evils is written by

Guruzada Appa Rao

(40)
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145. How many members signed on the
Gentlemen’s Agreement ?
8
146. Andhra University was shifted from
Vijayawada to Visakhapatnam on the

recommendation of

Sarvepalli Radhakrishnan’s Report

147. ‘Gabbilam’, which aims to sensitise popular
feelings against untouchability, was composed

by

Gurram Jashuva

(41)
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148. ‘Antaranolla Atmakathalu’ was written by

Endluri Sudhakar

149.

Chief Minister of Andhra Pradesh for the first

term was

May, 2004 to May, 2009

150. “Prataparudriyam”, a rhetorical work, which

describes the

of

nature “Prataparudra’s”

character was composed by

Vidyanatha

The duration of Y.S. Rajasekhara Reddy as

42)
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